Business Finance

Bond & Stock Valuation Exercise

Chapter 6

1.
 Dizzy Corp. bonds bearing a coupon rate of 12%, pay coupons semiannually, have 3 years remaining to maturity, and are currently priced at $940 per bond. What is the yield to maturity? 


A)
12.00% 

B)
13.99% 

C)
14.54% 

D)
15.25% 

E)
15.57% 
2.
J&J Manufacturing just issued a bond with a $1,000 face value and a coupon rate of 8%. If the bond has a life of 20 years, pays annual coupons, and the yield to maturity is 7.5%, what percent of the bond's total price is represented by the present value of the coupons? 
3. Which bond would most likely possess the least degree of interest rate risk? 

A)
8% coupon rate, 10 years to maturity 

B)
10% coupon rate, 10 years to maturity 

C)
12% coupon rate, 10 years to maturity 

D)
8% coupon rate, 20 years to maturity 

E)
12% coupon rate, 20 years to maturity 
4.
When pricing bonds, if a bond's coupon rate is less than the required rate of return, then: 

A)
The holder of the bond is assured of a profit regardless of when the bond is eventually sold. 

B)
The holder of the bond will realize a capital gain if the bond is held to maturity. 

C)
The bond sells at par because the required rate of return is adjusted to reflect the discrepancy. 

D)
The bond sells at a premium if it has a long maturity and at a discount if it has a short maturity. 

E)
The bond sells at a discount if it has a long maturity and at a premium if it has a short maturity. 
5.
A bond indenture is likely to include which of the following?


I.  Bond yield to maturity


II.  Sinking fund provisions


III.  Protective covenants


IV.  Security or collateral provisions 

A)
I and II only 

B)
I, II and III only 

C)
I, II and IV only 

D)
II, III and IV only 

E)
I, II, III and IV 
Chapter 7

1. What is the value of a stock that is expected to pay a constant dividend of $2 per year if the required return is 15%?

What if the company starts increasing dividends by 3% per year, beginning with the next dividend? The required return stays at 15%.

2. You observe a stock price of $18.75. You expect a dividend growth rate of 5% and the most recent dividend was $1.50. What is the required return?

3. McGonigal's Meats, Inc. currently pays no dividends. The firm plans to begin paying dividends in 3 years. The first dividend will be $1.50 and dividends will grow at 6% per year thereafter. Given a required return of 14%, what would you pay for the stock today? 
4.
Given no change in required returns, preferred stock prices will: 

A)
Increase over time at a rate of r%. 

B)
Decrease over time at a rate of r%. 

C)
Increase over time at a rate equal to the dividend growth rate. 

D)
Decrease over time at a rate equal to the dividend growth rate. 

E)
Remain unchanged. 
Answer: 

Chapter 6:

1. C
$940 = $60{[1 - 1/(1 + R)6] / R} + 1,000 / (1 + R)6; R = 7.27%; YTM = 7.27% x 2 = 14.54%

2.  price = $80 [(1 - 1/1.07520) / .075] + 1,000 / 1.07520 = $1,050.97;
PV of coupons = $80 [(1 - 1/1.07520)/ .075] = $815.56; 

percentage = $815.56 / 1,050.97 = 77.6%

3. C
4. B
5. D

Chapter 7:

1. Zero growth – 2 / .15 = 13.33

Constant growth: 2(1.03) / (.15 - .03) = $17.17

2. r = [1.5(1.05)/18.75] + .05 = 13.4%

3. P2 = [$1.50] / (.14 - .06) = $18.75; P0 = $18.75 / 1.142 = $14.42

4. E.
